\
L24 March 24,101,

"'l'au.st..ku.rt.nj:- A'H- N as m-0‘|‘ ‘rﬁfd o CMMJ'I-O b(,-&(e' ‘DA'.a _— D m-U.
mot be dur wtid Mondos i, chor-

" Also A w.ua: Wedde © -Lubu-g (_il‘-S"j ?.m.,&-wa-o)

Cubhe Wl 2 1159 pem. Muha o Comnrmm

C e 2 0 Pridey, Mech 3l m class
© R o Wekiwrdoy

- Book essay  prowpts on Camwas—

Last fune: Imlalau.«M i

——

QuLilows 2

\l-



L24, et'd.

——————

%ﬂi Bor  dependod vuds A 3 B,

P(A and 8) = P(#)-P(B).

Mf’.' Y°u:f¢- "’l\‘ﬂ:ir\j +wo colns — a4 a‘w’bk and o macke .

How tHae 1u_ar+cr [amoks  has M»Ioeafmsa-w heow
o mickd Lamds (and vice voca) — so the fwo

Theapore P(QW% o and  mided loﬁ)'-:
9’{(H,H)<f—
(4,7 2 Plguedn w t) Pmicksd © #)
(T H)
T s A o
(_I:T)} Sl = :tl_

\2.



L24, ctd . \3

Example . what v Al wa.\,hibi’n& 4 gething o0 siy, en  a cihjlf,
'HNWW ’L— A dur?

P (ot gqubfivg & six) = ‘E.

Example. What the pwbda'\u.hz 4 a,d'hr\g mo Siy o four
roll, o o~ v ode ]

'P(: 5£¥ I u-olk).:?(i[ six I"Tnll)'P[_n;éin]_rf) P(o 0«3 ) ‘P(SL“O
AR f(6)+/’4‘5 0.492 =482y,
| | s

Example . What vt probabilihy o qutting & |SiX  (at least
oL AY) aw d s g - Jain s

ot ) <P ar) - LN - 115

4
‘tn Ls { — 6" -,
or, 5‘3/ e N 0- 5’8 4

Eﬁ‘ml‘f-' Let B, be Hhe <went that mo double sty is throwe

. . ' G ;
oV "HM. L*'! Y’O“ f*_ o ?g\' o'_ J.A.(ﬂr . P(B )" ;b -P" .JL L,

T au. -Hu. -qus PR,
So P(B'. and \'31 and B, and -~ w@.%) = 2—5)(%{) (f‘f)
4, - (B
. 3G 24
Bieg Yoy 12, P(met colling a dowle six in 24 Honows ) = (ﬁ)
. : % 25 24
Ga ?(m&hnj o lewst e dowlle wy o 24 %wws): f = (’g:)

Y0491 =zhp|-/, |



L
24,
Cc
+
Y

So
+4
he
pe
b adn
N
%
of
/\»«U/w.é
at
[
east
L
don M
ng

"
7+
Hueo
w
S
e
4
9
.
g
)

Ak

Hu
oo Al
o
M
a 9’.\:%
e
.l.S |
ak
M as
.i.
A
4
thwens

5
I8
/

Twe Charadun
e
o "‘“‘f’“‘w
Hlu
Sefn
. W )
\Mad " -
m M Mo
A
‘ (A |
‘s
pro
b
|
W,y %
(s
/ Lt
o |
BYN/I

t
LAk,
W

\‘f



L24, ctd | 7 \s™

Mult fliuﬁm wln .

Tk :  Palg) = PlA= ®)
T P(&)

M?“a’i‘
P(A awd B) = P(4[B)- P(ﬁ 7

”Eﬁ“ ov iloan, PLBIA) = R(A wd B)
I PCA)

A Jw\j consi§ts r{— 9 . ek S wrmm.
T 2 TMM% sciu)"d, Wh‘j(s e rvo‘:
k. W Lot he wowmsa ¢

Exont|2

lﬁ" {

L(«‘I" “ be A vt Tht. e = Jwr cehected s

A WTMM'

na
\”‘F 6 b{ ‘P{"J— W ———-L-—z'_

L%

T quibn U i we b B P(A and B)



L24, ct'd . \L

#* wonmaw m
We cam find  P(A) = — oy
& + Wf\t ow Jw,a

We cam alro fidd  PRIA). T A accurs— e,

2 :"i— s (St \'jW‘“" f‘\"u - - - HW\‘H‘%
\

l'c;‘mi"‘ij :J“"J 9 mem amd 2 wohuw —— so, \

\

| _ dEwomen M*g (2N
F(B\*> - 3t jwrees rm.\; @ /

PLA amd B) = PIBIA) PIA) |, by +hi mulh ade cbove
= — - L [ o0o04545... ¥ 4.5/,

= %, oL |
TR § . & B ts



